Bl KXZERHD1

1. ROBWIZEZ R &, (11D yiFzicBlL. o =80, & y=7CTT, yZazD
ATRLAZE,
(1) yiZoichlL, 2 =4DLxy=8T . yZad
ATRLZE,
.
s (12) yidz lcplL, 2 = -3 DE&xy = 7T
T,y & x DATRLAZEI,
2) yizickflL, 2 = -3 DExy = -3 T
T,y &z DOATELEIN,
3
st (13) yiZ c ICHBlL,. 2 = 6 DXy = -8 T
o D T 7L l/ o
@) ylkalchkfil.z = 1OLxy = -5 T ToyEa OATRLES
T,y & x DRATHRLZEI,
.
i (14) yidzlZflL. e =6DL&y=2TT, yZH D
4 ylxzlctflL, 2 = 20Xy = 6T KTHRLAESV,
T,y & x DATRLAZEI,
.
. (15) yixz ickplL, 2 = -3 DL&xy = 1T
(5) ylEolchflL. o =30L&Ey=9TF, yZa o Toy & ODATRLARS,
ATRLZE,
.
. (16) ylZzlZlflL. e =20t Exy=1Td . yxa D
6) ylEzlCHhlL. 2 =80,Xxy=9TT, yaaD HTHRLZRIVY,
XTRLARIV,
.
. A7) yid o GBIl 2 = TOELxy = 3T
M ylFaoicplL, 2 = 5DLExy = 1T Ty o OXTHRLESN,
T,y & x DATHRLAZEI,
.
S
= 18) yidz it o = - TDOLEy = -5 T
®) yidzickfflL, 2 = -6DLE y = 9T T,y x DX TELRI,
T,y & x DATRLZI,
.
.
(19 yiZz CHPIL,. 2 = 20L&y = 9T
9 yliZaoiZplL, 2 = -TOLEy = 47T oy ke ODRTELAS I,
T,y &z DOATELEIN,
.
.
(20) yiZ z lCHBIL, 2 = -FDLEy = 2T
(10) y iz IZHHIL, 2 = TOEZy = -1 T oy ke ORTELAS I,
T,y & x DR TERLRI,
.
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1. ROBNTEZ RS,

ylziZkflL, 2 = 20L&y = 6T
T,y & x DX TELRI,

.
ylziZlkkflL, 2 = 1OLE&Ey = -5 T
Ty & x DR TELARI,

.
ylXdozlZkplL, 2 = -9DELZxy = 9T
T,y & x DRATHRLZEI,

%.
ylxzZHBlL,. 2 = -1 DE&y = -9 T
T,y & x DR TERLRI,

.

Tz lCHpBIL, 2 = TODEET Yy = -7 T

Ty & x DX TELRI,

.
ylizlZlflL, 2 = 40LZxy = -7 T
T,y & x DRTRLZI,

Z.
ylz L, o = - TOLExy = -5 T
T,y & x DR TERLRZI,

%.
ylido L, 2 = -5 DE&y = -2 T
T,y & x DR TELRI,

.
yiXziclkflL, 2z = 8DEXxy = -7T

9)

(10)

Ty & DNTEHLARI,

2

= .

ylXzlCBlL. o =80t & y=9TT, yZz D
XTRLARI,

(11)

(12)

(13)

(14)

(15)

(16)

a7

(18)

(19)

(20)

yliXdz i, 2 = 30L&y = -1 T
Ty &z OXTERLES,

%.
ylXao 2k, 2 = -3DEXxy = -2 T
Ty & x DX TRLAR IV,

%.
ylxziZHflL,. 2 = 4Dt&y = 3T
Ty & x DX TR LRIV,

%.
ylXdzlCkpIL,. 2 = -8DLXxy = 9T

Ty DNTERLRIV,

s

= .

Yyl . e =6DL&y=4TT, y Tz D
XTRLAEIN,

.
yldzlCkpIL,. 2 = 3DELExy = -2 T
Ty & x DR TELRI,

.
yldzlCkplL,. 2 = 6 DEExy = -3 T
T,y x DX TELRZI,

.
ylx ki, 2 = -THOELZxy = 1T
T,y x DX TELRZI,

.
ylazZlkkflL, 2 = 40L&y = 1T

Ty & DANTELARIV,

2%

yldz Bl e =90t &y=3TT,yZxazD
KTELARI,

¥
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1. WOBWIZEZ RS0,

(1)

(2)

(3)

(4)

(5) y

(6)

(7)

(8)

9)

(10)

yldaolZlplL, 2 = -3DExy =
Toy &z DINTRLZR IV,

s

(=

-3 T

Yyl e =30L&y=9TT, y &2z D
ATELAREV,

.

ylXdolZkplL, 2 = TOLXy = -7 T
T,y & x DRATHRLZEI,
%.

yliXoiZlkplL, 2 = -1 L&y = 3T
Ty & x DX TR LRIV,
.

Tz iclflL, 2 = -1 DE&xy = -3 T
Ty &z DX TRLALIV,
.

ylXozlZkplL,. 2 = 90Xy = -2 T

T,y & x DR TELRIV,

pie

= .

ylIzlcBlL. o =40t & y=3TT, yZxaz D
NTRLARSI,

%.
ylXdzlZkpIL,. 2 = -7TDEEXy = 4T
Ty &z DX TR LIV,

.
ylaz kil 2 = 4Dt&xy = -2 T
Ty &z DN TRLALIV,

.
yliZz L, 2 = 5 DXy = —6T

Ty ke DOXTELEI,

(11)

(12)

(13)

(14)

(15)

(16)

a7

(18)

(19)

(20)

ylxiZkk#lL, 2 = 50L&y = —6 T
T,y & x DX TELRI,

%.
yliXdz i, 2 = 5DE&y = 7T
Ty & x DX TRLAR IV,

%.
yliXdoz L, 2 = bDE&xy = -8 T
Ty & x DX TR LRIV,

%.
ylXdzlZpIL,. 2 = 3DELExy = -2 T

Ty DNTERLARIV,

s

= .

Yyl . e =40t &y=6Td, y Tz D
KTELARIV,

s

= .

Yyl . e =6DL&y=2Td, y &z D
KTRLAEIV,

s

= .

y i lZflL, 2 = 30L&y =
Ty &z DR TERLRIV,

1T

s

= .

Yyl e =90t &y=6TT, yZH D
XTRLAEI,

.
yliXdz i,z = -3DEXxy = -2 T
Ty &z DX TRLAZIV,

.
yldolCkplL,. 2 = -7TDELEExy = 1T

Ty & DNTEHLRI,
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